IR LB, B0 @ 2 v — 2 LT EI N, T/ BRVEAR, RAIA
A,

12 MOTey 7537075 008BEYTOT S L%EHAT, BB 1~3II&R L,

(Fr 25 L1 0EE)

HEME—THE2=2016 ¥y bdAv 7 10 #REMEST 287027 5 L ADDP
Thd, AMTE, /Sy 27 10 #EE, 3HO 10 EHDEHEZENEN4LEY P TR
HU, BFTMO 4y MIFEE LT, EXIZ0DEEIX 1100 2, BDOHEE 1101
*ETAIMERRE TS, 10K 246 %, Nv o 10EHTRELF%, H 112

AT,
2 4 6 c (161E%)
0010 | 0100 | 0110 | 1100 | (2¥¢E#HD

1 10 #4246 /3w o 10 HEEHFRIR

HENA—THD 205y 7 10 EROINEFZ, K2R,

2 4 6 &
2R 7
L0edk@ | 0010 | 0100 | 0110 | 1100 ) ; ; -
pijik=1
0011 | 0000 | 0011 | 1100
0 5 7 C
327 | o0 | o101 | o111 | 1100
10 @

H?2 HEAR—THZ2ZD20/Nv 2 10 EEOINEH

(1) BI7 O 524 ADDP1 %, MEONGLREGHFENA—THE_2D 16 Y MDD
2N 7 10 EEBAS, GR1, GR2ZIZEREINT, BMUHINE,

(2) Bl1707 5 A ADDPY IE, HNEAERE%Z GROCEHEL THHLTIIES, DL ¥
WALV AL GRI~GR7 DHBIRTIZET, 22T, MELCZEWT, 10 EHOED
MNEOHT EARDERELRVDLDET S,



(FesZa1)
ADDP1  START

RPUSH
ST GR1,A
ST  GR2,B
LAD GR3,4 By NA Y v D#ERE
I a |
ST GR1,RESULT ;RFrS&h% Bk
LD  GR1,A
SRL  GR1, 0, GR3
LD  GR2,B
SRL  GR2, @, GR3
LOOP  AND  GR1, ={000F
AND  GR2, =f0Q0F
LAD  GRO, 0
ADDL GR1,GR2
CPL  GR1,=10 110 LLEDIBZE T LT
I b |
SUBL GR1,=10
LAD  GRO, 1
MERGE | c ]
OR  GR1,RESULT ;HREEREDHSE
LAD  GR3, 4, GR3
CPL  GR3,=16
JIE  FIN R THIE
ST GR1,RESULT ;rhRE4ESR % B8
LD  GR1,A
SRL  GR1,0,GR3
LD  GR2,B
SRL  GR2, 0, GR3
ADDL GR1, GRO
JUMP  LOOP
FIN LD  GRO,GRI
RPOP
RET
A DS 1
B DS 1
RESULT DS 1
END



1N
A
I\_.\

B oS 1d0[ | ANBELWERZ, BEROTNDER,

a lZBd S RRETRE

7 AND  GR1, =#000F - AND  GR1,={F000 7 AND  GR1, =fFFFF

T OR GR1, =#000F Z OR GR1, =£F000 s OR GR1, =#FFFF
b IZBEY B AREEE

7 JUMI  MERGE - JNZ  MERGE 7 JPL  MERGE

T JOV  MERGE A JZE  MERGE
cZ8Y D EEEE

7 SLA  GR1,@,GR3 - SLL GR1,0,GR3 7 SLL GR1,=4

I SRA GR1,0,GR3 A SRL  GR1,0,GR3 77 SRL  GR1,=4

f 12 |

B2 TEMNEZRLZZ=ZOD 16 ¥y bDNRAv Y 10 ERENETIE 0o 5 A
ADDP2 % AR L7z, 70755 240 |RANBELWEA%R, @
EROFNLER, 22T, Jursszdo|l o || ¢ |k,
BELIOELWEABA>TVEED LT3,

(FaZ5 b2 OFHH)

(1) BI7OZ 5 A ADDP2 1%, MBEONRLARLZFENELRLZZD2D 16 LY DSy
7 10 #EEH, GRI1, GR2 IZBEINT, WUHEIND,

(2 BI7OJF 4 ADDP2 ik, MIEMERZ GROICERELTHHLUTICES, Z0DE X,
WHL Y AR GRI~GR7 ODRBIXTIIET,

(a3 5 2)
ADDP2  START
RPUSH
CPL  GR1,GR2
I d I
LD  GR4, GR1
LD  GR1,GR2




設問２の枝問fは問題誤りにつき，問12を選択した受験者全員正解の措置済み



LD  GR2,GR4
INI ST GRI,A

ST  GR2,B

LAD  GR3,4 ey N A T Y D#HEL
a 1

ST GR1,RESULT ;RFSZp% B

LD  GR1,A

SRL  GR1,0,GR3

LD  GR2,B

SRL  GRZ, @, GR3
LOOP AND  GR1, =H000F
AND  GR2, =#000F

LAD  GRO, 0
SUBL GR1, GR2
JPL__ MERGE
I e l
ADDL GRT,=10
LAD _ GRO, 1
MERGE | c |

OR GR1, RESULT
LAD  GR3, 4, GR3

CPL  GR3,=16

JZE  FIN RTHE

ST GR1,RESULT ;FRRS#ESR A B
LD  GR1,A

SRL  GR1, 0, GR3

LD  GR2,B

SRL  GR2Z, 8, GR3
I f l
JUMP  LOOP
FIN LD GRO, GR1
CPL  GRO, ={000D

JNZ  FIN2
LAD  GR@, #000C
FIN2 RPOP
RET
A DS 1
B DS 1
RESULT DS 1
END



N
A
P~

d 2B S RER

7 NI INI 1 JUNZ  INI 7 Jov  INI

T JPL INI A JZE  INI
e \ZHEY B MRERE

7 JMI  MERGE 4 JINZ  MERGE 7 JOV  MERGE

T JZE  MERGE 7 SLL  GR1,0,GR3 77 SRL  GR1,0,GR3
fIZEY & fRERE

7 ADDA GR1,GRO - ADDL GR1,=1 7 ADDL GR1, GRO

T ADDL GR3, GRO Z SUBL GR1,=1 77 SUBL GR1,GRO

B3 BB HLoT o016y ORI I0EREZMETES LT, &
FOMERIZE>TREIFDS 54 ADDPT & ADDP2 24338705 F A
DP ZfERLZ, 707546 380 | KAKWBELVERE, M
BERHOHRNLEN,

(7823 L 3DF)

(1) 8170755 ADDP iE, MBEOREELRDZ =20 16 € "3y 7 10 #ES,
GR1, GR2 IZFEINT, BUHINS,

(2) Bl70Z 5. ADDP DI LTI E o7z & &, MBERRIX GO IZA>TWS,

(7o &5 A 3)

ADDP  START
LD GRO,GRI
| g |
SR GRO, T
| h |
CALL ADDPI
JUMP FIN

P2 CALL ADDP2

FIN  RET
END



g \ZBAd B ARERE
7 ADDL GRI,=1
T SUBL GRI,=1

h 2B % RERE

T I
T JPL

P2
P2

A

X

AND
XOR

JNZ
JZE

GR@, GR2
GRO, GR2

P2
P2

7 OR

v Jov

GR1, GR2

P2

N
\J
i



